H & 0l & AHS B Ml A

FN: SHS
g S A3
(i B IPN SN EER=E)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
sSHs 522,042 503,252 18,790
SoS A3 445,623 430,783 14,840
ERsIPNPN 188,858 208,298 A19,440
=T HE 2 143,858 163,298 ~19,440
201 ZB=EhI 62,458 57,898 4,560
02 33234l 25,858 21,298 4,560
O3323 % HAl 19,680 18,120 1,560
—dotrERs 350,000& * 12 4,200 2,640 1,560
OAIZEHIs XY 6,178 3,178 3,000
—&=Z A2 wH
3,000,000 14 3,000 0 3,000
401 AlEHIZL 2] 53,000 77,000 24,000
01 Al&HI 53,000 77,000 24,000
O] WAl SAt 53,000,000 * 14! 53,000 77,000 A24,000
TR =Ho A 239,250 204,970 34,280
LHHIXH 75,930 75,250 680
405 RHakF S| 10,680 10,000 680
01 AL =S F=HI 10,680 10,000 680
Oglas SEd A 7
340,000 2CH 680 0 680
FUESEY 163,320 129,720 33,600
301 LetEAZ 160,320 126,720 33,600
07 & -0l - etas2d 160,320 126,720 33,600
Osd gs24d= 160,320 126,720 33,600
-S¥=+g 400,0003 =242 x 128 115,200 86,400 28,800
-SYH0= 400,000 x24H 23] 19,200 14,400 4,800
dHH2LTH(SLS) 76,419 72,469 3,950
Jl=&dl 76,419 72,469 3,950
J123t 76,419 72,469 3,950
201 Let2aY| 54,883 50,933 3,950
01 Al 2telHl 33,133 33,103 30
Ogx=g(MHegxl)
30,0003 =12 +366 10,980 10,950 30
2 =523l 21,750 17,830 3,920
Os&82= € MA 21,750 17,830 3,920
&Rz 950,000 122 11,400 9,000 2,400
—&ol=Ees 140,000 123 1,680 960 720
-ZENY BEE(EH)
1,200,000 *1CH 1,200 800 400
-3EXE BE2(=X)
1,000,000 1CH 1,000 600 400




